@opma Ne 5 KOHTPOJIBHOI'O 3AMEPA 110 IIC YYCOBAS Jara 16.12.2020r.
1 uac 2 uac 3 yac 4 yac
Tonoxenne | IlocTosnnele
anuand noTepH TOK | +aKT [+ peak] Tok | *akr |+peak| Tok | +akT |+peak| Tok | & akT |+ peak
Amn | MBr |MBAp| Amn | MBt |MBAp] Amn | MBr |MBAp| Amn | MBr MBAp
110 kB APxx 0,017} 0,307 0,02 | 0,06 | 0,304 | 0,02 | 0,06 | 0,304 0,02 | 0,06 10,295} 0,01 | 0,06
Ne l AQxx 0,078
16 6 kB A4.1 0,000 { 0,00 | 0,00 } 5,659 | 0,02 | 0,06 }5,659] 0,02 | 0,06 |5494 | 0,01 0,06
MBA PITH
110 APxx 0,017 47,364] 9,524 | 1,69 [46,981] 9,517 | 1,709 [46,836] 9,497 | 1,676 |46,836] 9,497 | 1.67
Ne2 AQxx 0,078
§ 16 6 kB 4.9 901 ]9.822] 1,69 | 885 [9.645] 1,709 882 [9.623] 1,676 | 895 ] 9,761 1.67
&' | MBA PIIH
% APxx
2] N AQxx
z
< | &1 MBA
Q. (=}
gl = APxx
8 Ne AQxx
=
=}
g MBA PITH
; 110 kB 48 9,54 | 1,75 47 9,54 | 1,77 47 9,52 | 1,74 47 9,51 1,73
& Hroro:
: 6 kB 901 9,82 | 1,69 ] 891 9,66 | 1,77 | 888 | 9,64 | 1,74 | 901 971 | 1.73
2 *akrT [+ peak| Tok | +akr [+peak| Tok | *akr [+peak| Tox | *akr [+ peak
5 H 7121 e p
£ . s Awn_| MBr {MBAp| Awn | MBr [MBAp| Awn | MBr |MBAp| Awn | MBr [MBAp
g 3C-6 B '
: Muun TOL a4.3.1 24 0,27 24 0,27 24 0,27 24 0,27
E Bs.1 I1C Kucnordas .15 | g4.3.3 13 [ 0,144 13 0,144 13 [0,144 13 |0,144
2 | g [p T 1OOBAKTIHOBIREL 5 0 | 0,00 o | 000 o | 000 0 | 000
Q
E % TNel 250xBA TITH.Meganas | 514.3.9 1 0,011 1 0,011 1 0,011 1 0,011
; é TNel 630kBA KTITLIPB-2 |s4.3.13 10 | 0,111 10 0,111 10 | 0,111 10 {0,111
g = Hroro 3C| 24 0,27 0 24 0,27 0 24 0,27 0 24 0,27 0
5 ; 4C-6 kB
‘-;’ 5 TNe2 630kBA KTIT LIPB-2 | au.4.4 7 0,08 6 0,07 7 0,08 7 0,08
5 E TNe2 250kBA TITH.Mennas | 14y.4.6 3 0,033 3 0,033 3 0,033 3 0,033
& 22 1600 TIHOBLIPB-
2 | g [} 1O0OBAKTHHOBIPE 4 14 7 | 0,08 6 | 007 7 | 0,08 7 | 0,08
[< o
: & |Muun TIL] 14.4.16 17 0,19 15 0,16 17 0,19 17 0,19
§. % Hroro 4C| 17 0,19 0 15 0,16 0 17 0,19 0 17 0,19 0
e|s
o~ —‘..
= vy
~ ™
Slo
i
21z
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TE
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g | B
Eal (=]
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E Harpyska CK, MBAp No
g Batapes CK, MBAp Ne
g 110 kB 118 119 119 119
5 | Hanpsxenue
=
Ha
3 e 6 xB 64 64 64 6.4
Ne 1 0,316 0,316 0,316 0,217
Ne 2 0,985 0,984 0,985 0,985
Cos ¢,
Ne
Ne
—— A Prep + A jQuep 0 +j 0 |1E06 +j 3E-05[1E-06 +j 3E-05|1E-06 +j 2E-05
y RIS APuep+AjQuep 0032 +j 0642]0031 +j 062 |0031 _+j 0617|0031 +j 0634
TpaHchopmaropax, o ; - - -
MBA APnep+AJQnep + j +j + +j
APnep+Aanep +j + + +
Ux,% | APk3, MBr SxeT1 002 +j 008]004 +j 0140004 +j 014003 +j 014
T-1| 10,24 0,0821 SneT2 0,00 +j 0,00 | 0,00 +j 0,00 | 0,00 +j 0,00 | 0,00 +j 0,00
T-2| 10,34 0,0821 Sxet3 +j +j +j +j
SNeT4 +j +j +i +j
Sz 0,02 + j 0,08 | 0,04 + j 0,14 | 0,04 + j 0,14 | 0,03 + j 0,14
3amep npoBsesn
ITPUMEYAHUE: + HanpasJCHHE N0TOKA K IIHHAM I/CT - HalpaBJICHHE MOTOKA OT WHH I1/CT
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5 yac 6 uac 7 yac 8 uac 9 uac 10 yac 11 yac
TOK | £aKT |+peak| Tok | *akT |+peak| Tok |+ axT |+peak| Tox | *axr [+ peak| TOK | *aKT |+peak| TOk |*akT [+peak| Tok | +akr |+ peak
Amn | MBr |MBAp| Amn | MBr |[MBAp| Amn | MBr [MBAp| Amn | MBr MBAp| Amn | MBr [MBAp] Amn | MBt |MBAp| Amn | MBr MBAp
0,335] 0,02 | 0,07 0,335 0,02 | 0,07 | 0,304 ] 0,02 0,06 10,455 0,02 | 0,06 ] 0,281 [ 0,02 | 0,05 | 0,281 ] 0,02 | 0,05 0,281 [ 0,02 | 0,05
6,231] 0,02 { 0,07 ] 6,231 0,02 | 0,07 |5,659] 0,02 0,06 §8507] 002 | 0,06 ]5259( 0,02 | 0,05 |5,259 0,02 | 0,05 }5,259{ 0,02 | 005
46,803 9,491 [ 1,657 |46,803] 9,491 | 1,663 |46,770] 9,484 | 1,643 [47,965] 9.491 | 1,63 47,965] 9,491 [ 1,577 [47,849] 9,478 [ 1,538 [47,849] 9,478 | 1,518
892 19,729 1,657 | 890 9,711 [ 1,663 ] 891 ]9.715] 1.643] 902 [o541] 163 | 911 [9,639 ] 1,577] 904 [9.567] 1,538 | 907 | 9.6 {1,518
]
47 1951 | 1724 47 | 951 | 1,73 | 47 9,50 | 1,70 | 48 [ 951 | 1,69 | 48 [ 951 ] 163 | 48 | 950 | 1.59 | a8 9,50 | 1,57
898 1 975 1 1,721 897 | 973 | 1,73 ] 896 | 973 | 1,70 | 911 [ 9,56 | 1,69 | 917 [ 966 | 1.63 | 909 | 9.59 | 1.59 | 912 9,62 | 1,57
TOK | £ aKT |+peak| TOK | *akT [+peak] Tox | +akT |+ peak| Tok | *akr |+peak| TOK | £aKT |+peak| Tok | +akr |+peak| Tox | *akrT |+ peax
Amn | MBT |MBAp| Amn | MBr {MBAp| Amn | MBr [MBAp] Amn | MBr MBAp| Amn | MBr [MBAp| Amn | MBt {MBAp} Amn | MBr MBAp
24 | 027 23 | 0,25 24 | 027 24 | 0,26 24 | 0,26 23 | 025 23 | 0,25
13 {0,144 12 0,133 13 0,144 13 {0,139 13 /0,139 12 10,129 12 10,129
0 0,00 0 0,00 0 0,00 0 0,00 0 0,00 0 0,00 0 0,00
1 [0011 1 {0011 1 {0,011 1 |0,011 1 |o,011 1 [0,011 1 ]0,011
10 | 0,111 10 0,111 10 ] 0,111 10 | 0,107 10 ] 0,107 10 | 0,107 10 ] 0,107
24 1027 0 23 | 025 0 24 1027 o 24 02| 0 24 {026 o 23 | 025] 0 23 1025 0
6 | 007 6 | 007 7 0,08 6 | 0,06 7 | 007 7 | 0,07 7 | 0,07
3 0,033 3 0,033 3 0,033 3 0,032 3 0,032 3 0,032 3 0,032
7 0,08 6 0,07 7 0,08 7 0,07 7 0,07 7 0,07 7 0,07
16 | 0,17 15 | 0,16 17 | 0,19 16 | 0,17 17 | 0,18 17 | 0,18 17 | 0,18
16 (017 ] o 15 | 0,16 0 17 [ 019] 0 16 | 017 ] 0 17 [ 018 ]| 0 17 [ 018 | 0 17 1018 o
119 119 119 116 116 116 116
6,4 6,4 6,4 6,2 6,2 6,2 6,2
0,287 0,287 0,316 0,217 0,351 0,351 0,351
0,985 0,985 0,985 0,986 0,986 0,987 0,987
206 +j 3EOS|2E06 +j 3B-05|IE06 +j 3E-05]1E-06 +j 3E05]1E06 + j 2EO05)1E-06 +j 2E-05|J1E-06 +j 2E-05
0031 +j 062910031 +j 0627]0031 +j 0627003 +j 0605|0031 + j 06171003 +j 0607]003 +j 0611
+j +j +j +j ) +j +j +j
+j +j +j +j +j +j +j
004 +j 0141004 +j 014]004 +j 014]004 +j o014] 004 + j 013]004 +j 013]004 +j 0,13
000 +j 000000 +j 000J000 +j 000]000 +j 000|006 + j 000]000 +j 000]000 +j 0,00
+j +j + +j +j +j +j
+j +j +j +j +j +j +j
004 +j 014)1004 +j 014]004 +j 014]004 +j 014] 004 +j 013|008 + j 013 ]004 +j 0,13




12 yac

13 yac

14 yac

18 uac

16 uac

17 yac

18 yac

TOK
Amn

+ aKT
MBt

+ peak
MBAp

+ aKT
MBt

TOK
Amn

+ peak
MBAp

TOK
Amn

+ akT
MBT

+ peax
MBAp

& aKT
MBt

TOK
AMn

£ peak
MBAp

+ akT
MBT

TOK
Amn

+ peak
MBAp

+ aKT
MBt

TOK
AMI

% peak
MBAp

+ aKT
MBT

TOK
AMn

+ peax
MBAp

0,349 1 0,05 | 0,05

0,281 1 0,02 | 0,05

0,281 | 0,02 | 0,05

0,279 1 0,02 | 0,05

0,303 | 0,01 | 0,06

0,312 0,02 | 0,06

0,279 ] 0,02 | 0,05

6,536 [ 0,05 | 0,05

5,259 | 0,02 | 0,05

52591 0,02 | 0,05

5,176 | 0,02 | 0,05

5,671 ] 0,01 | 0,06

0,02

5,842 0,06

5,176 { 0,02 | 0,05

47,849[ 9,478 | 1,538

47,668] 9,451 | 1,505

47,568] 9,431 | 1,478

47,194] 9,438 | 1,485

47,601[9,438 | 1,485

47,535 9,425 | 1,472

47,029] 9,405 | 1,439

910 [9,636 | 1,538

911 9,651 | 1,505

904 | 9,581 | 1,478

902 | 9,709 | 1,485

907 [9,612] 1,485

907 |9.615] 1472

896 | 9,645 | 1,439

48 9,52 | 1,59 48 9,47 | 1,56 48 945 | 1,53 47 9,46 | 1,54 48 9,45 | 1,54 48 9,44 | 1,53 47 9,42 | 1,49
917 | 968 | 1,59 | 916 | 967 | 1,56 | 909 | 9,60 | 1,53 | 907 { 9,73 [ 1,54 § 913 | 9,63 | 1,54 | 913 | 9,63 | 1,53 | 901 | 9,66 | 149
TOK | +aKT (+peak| Tok | *akT [+peak| Tok | *akr |+peak] Tok | *axT [+peak| Tok | +akT |+peak| Tok | *akT [+ peak| Tox | +akT |+ peaxk
Amn | MBr |MBAp] Amn | MBr [MBAp] Amn | MBt |MBAp| Amn | MBr |MBAp| Amn | MBr [MBAp| Amn | MBr |[MBAp|] Amn | MBr {MBAp

24 0,26 23 0,25 24 0,26 24 0,26 24 0,26 24 0,26 24 0,26

13 10,139 12 10,129 13 [0,139 13 {0,142 13 10,139 13 0,139 13 10,142

0 0,00 0 0,00 0 0,00 0 0,00 0 0,00 0 0,00 0 0,00

1 0,011 1 0,011 1 0,011 1 0,011 1 0,011 1 0,011 1 0,011

10 ]0,107 10 {0,107 10 | 0,107 10 0,109 10 10,107 10 [ 0,107 10 [ 0,109

24 0,26 0 23 0,25 0 24 0,26 0 24 0,26 0 24 0,26 0 24 0,26 0 24 0,26 0 l

6 0,06 7 0,07 7 0,07 3 0,06 6 0,06 6 0,06 7 0,08

3 0,032 3 0,032 3 0,032 3 0,032 3 0,032 3 0,032 3 0,032

6 0,06 7 0,07 7 0,07 6 0,06 6 0,06 7 0,07 7 0,08

15 0,16 17 0,18 17 0,18 15 0,16 15 0,16 16 0,17 17 0,18

15 0,16 0 17 0,18 0 17 0,18 0 15 0,16 0 15 0,16 0 16 0,17 0 17 0,18 0 l
116 116 116 117 116 116 117

6,2 6,2 6,2 6,3 6,2 6,2 6,3
0,659 0,351 0,351 0,351 0,217 0,316 0,351
0,987 0,988 0,988 0,988 0,988 0,988 0,988
2E06 +j 3E-05|1E06 +j 2E-05]1E-06 +j 2E-05J1E-06 +j 2E-05|1E-06 + j 2E-05J1E-06 +j 3E-05]1E-06 +j 2E-05
0,031 +j 061510031 +j 0,617] 0,03 +j 060710031 +j 0,623] 0,03 +j 0,611] 0,03 +j 0,611] 0,03 +j 0,615
+i +] +j s i +j +J +j :
+j ull +j +) + +j |
0,06 +j 0,13 | 0,04 +j 0,13 | 0,04 +j 0,13 | 0,04 + j 0,13 | 0,03 +j 0,14 | 0,04 +j 0,14 | 0,04 +j 0,13
0,00 +j 0,00 1 0,00 +j 0,00 | 0,00 +j 0,00 { 0,00 +j 0,00 | 0,00 +j 0,00 | 0,00 +j 0,00 | 0,00 +j 0,00
+] +J +j +j +] +j 4]
tj +J ) ti tj +i b
0,06 +j 0,13 | 0,04 + j 0,13 | 0,04 +j 0,13 | 0,04 +j 0,13 ] 0,03 +j 0,14 | 0,04 + j 0,14 | 0,04 + j 0,13




19 yac 20 yac 21 yac 22 yac 23 yac 24 yac
TOK | £aKT [+ peak| TOK | % akr +peak] Tok | +akT +peak| Tok | *akr +peak| Tox | +axr +peak| Tok | +akr + peak
Amn | MBt (MBAp| Amn | MBr MBAp] Amn | MBr MBAp| Amn | MBr MBAp| Amn | MBr MBAp] Amn | MBr MBAp
0,310 0,02 | 0,06 0,303 | 0,01 [ 0,06 | 0,281 ] 0,02 0,05 10,279 | 0,02 | 0,05 ] 0,276 | 0,02 | 0,05 | 0.307 0,02 | 0,06
2,749 | 002 | 0,06 |5671] 0,01 | 0,06 |5259] 0,02 | 0,05 5,176 1 0,02 | 0,05 ] 5095] 0,02 | 0,05 | 5,659 0.02 0,06
46,996] 9,398 | 1,452 |47,468] 9.412 [ 1,472 [47.468] 9,412 | 1.452 46,9491 9,398 [ 1,432 [46,631] 9,405 | 1.452 46,696] 9,418 [ 1,498
897 9,658 [ 1,452] 912 | 9.662 [ 1,472 | 893 [9.466] 1.452| 88 19,568 [ 1432|892 [9.755] 1.452] 887 | 9,698 | 1,498
47 1942 | 151 48 [ 942153 | 48 | 9.43 1,50 } 47 | 942 [ 149 47 [ 942 [ 150 | 47 9,44 | 1,56
203 | 968 | 1,51 ] 917 | 967 | 1,53 | 898 | 9.49 1,50 ] 893 | 959 | 1,49 | 897 [ 977 | 1.50 | 892 9,72 | 1,56
TOK | £akT |+ peak| Tok | &+ akT *peak| Tok | +akr |+peak] Tok | % akr *peak| Tok | *axt |+ peak| Tok |+ akr + peak
Amn_| MBt |MBAp| Amn | MBr MBAp| Amn | MBt MBAp| Amn | MBr MBAp| Amn | MBr MBAp] Amn | MBT MBAp
23 | 025 23 | 025 24 | 0,26 24 | 026 23 | 0,25 23 | 0,25
12 10,131 12 0,129 13 0,139 13 ]0,142 12 0,133 12 |0,133
0 | 0,00 0 | 0,00 0 | 0,00 0 | 0,00 0 | 000 0 | 0,00
1 |oo011 1 [0011 1 ]o,011 110011 1 ]0011 1 0011
10 ]0,109 10 | 0,107 10 0,107 10 |0,109 10 0,111 10 0,111
23 ]025] o0 23 1025 o 24 1026 0 24 1026 o 23 J025 o 23 1025] o
7 | 0,08 6 | 006 6 | 0,06 0,08 6 | 007 0,08
3 (0,032 3 ]0,032 3 [0,032 3 10,032 3 (0,033 3 10,033
7 | 0,08 7 {007 7 ] 0,07 7 | 008 6 | 007 7 | 0,08
17 ] 0,18 16 | 0,17 16 | 0,17 17 | 0,18 15 | 0,16 17 | 0,19
17 1018 o 16 |017] o 16 {017 ] o 17 o018 ] o 15 (016 ] 0 17 {019] o
117 116 116 117 118 118
6,3 6,2 6,2 6,3 6,4 6,4
0,316 0,217 0,351 0,351 0,351 0,316
0,988 0,988 0,988 0,989 0,988 0,988
1E-06 +j 3E-05|1E06 +j 2E-05|1E06 + J 2E-0S|1E06 +j 2E-05[1E-06 +] 2E.05|1E06 % j 3E-05
0031 +j 0616]0031 +j 0617]0029 + J 05931003 +j 0605[0031. +j 0629 0,031  +j 0622
+j +j +j +j +j +j i
+] +i bl t +j *

004 +j 0141003 +j 014 ] 004 = J 0130004 +j o013[004 <+ 013 004 +j 014
000 +j 000]000 +j 000]o000 + J__0001000 +j 000[000 +j o000 000 +j 0,00
t) tj +j +) +J +J
+j +j + i +j + +
004 +j 014]003 +j 014] 004 tj 0131004 +j 013]004 +j 013 ] 0,04 = j 0,14




